
SCALE: 1MAIN ROOF FRAMING PLAN
1/8" = 1'-0"

SCALE: 2SHED ROOF FRAMING PLAN
1/8" = 1'-0"

S5.1
7

S5.1
6

S5.1
8

S5.1
8

S5.1
5

S5.1
6

S5.1
8

S5.1
10

S5.1
7

S5.1
6

23
'-0

"
23

'-0
"

26'-4" 25'-4"

26'-4"

35
'-8

"

2'
-8

"
2'

-8
"

14
3'

-8
"

2'
-8

"

14
3'

-8
"

140'-0"

5'
-4

"
23

'-0
"

5'
-4

"
23

'-0
"

25'-0" 25'-0" 11'-8" 26'-8"

25'-0" 25'-0" 11'-8" 26'-8"

25'-4"

27
'-0

"
23

'-0
"

38
'-4

"
23

'-0
"

27
'-0

"
2'

-8
"

140'-0"

51
'-4

"
51

'-4
"

25'-0"

SHEAR WALL

35
'-8

"

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T 
FR

A
M

E

M
1

M
1

M2 M2

M1M1M1M1M1M1M1

M1 M1 M1 M1

M1 M1 M1 M1

M1 M1 M1 M1 M1 M1 M1

M
1

M
2

M
2

M
1

M
2

M
2

M
1

M
1

WIND BEAM

M
O

M
EN

T 
FR

A
M

E

WIND BEAM

WIND BEAM

WIND BEAM

WIND BEAM WIND BEAM

WIND BEAM WIND BEAM

WIND BEAM WIND BEAM WIND BEAM WIND BEAM

WIND BEAM

WIND BEAM

PRE-ENGINEERED
CANOPY, SEE ARCH.

M2 M2

M
1

M
1

L4 x 4 x 1/4" BOLTED TO
WALL w/ 3/4"Ø BOLTS @
24" O.C.

L4 x 4 x 1/4" BOLTED TO
WALL w/ 3/4"Ø BOLTS @
24" O.C.

S5.1
10

10
00

S1
62

-4
3 

@
 2

4"
 o

.c
.

NOTES:

1. CB1 = 11 5/8"W x 24" D CONCRETE BEAM w/ (5) #5 EACH FACE & #4 TIES @ 16" o.c.
2. M# = MASONRY LINTEL, SEE SCHEDULE ON SHEET S0.2
3. B1 = HSS 6 x 6 x 3/8" WALL BRACE @ TOP OF CONCRETE COLUMN.

AXIAL LOAD Pu = 10.0k. ATTACH TO COLUMN w/ 12" x 12" x 1/2" PL w/
(4) 3/4"Ø P.I.A. ATTACHMENT TO PEMB FRAME BY PEMB SUPPLIER

CB
1 CB
1

B1

B1

B1

B1

B1

M
O

M
EN

T 
FR

A
M

E

M
O

M
EN

T
FR

A
M

E

1

1

2

L4
 x

 4
 x

 3
/8

"

L4
 x

 4
 x

 3
/8

"

S5.2
6

S5.1
12

3'-6"

10'-0"

C8 x 11.5

C8 x 11.5

C8 x 11.5

C8 x 11.5

C8 x 11.5

C8 x 11.5

3'-6"

S5.1
14

S5.1
13

HSS 4 x 4 x 3/16"

TYP. FOR 7

REPLACE TYP.
ROOFING
SYSTEM w/ 1 1/2",
22 GA. TYPE B,
PAINTED METAL
DECK. ATTACH TO
PURLINS w/ TEK 4
FASTENERS OR
5/8"Ø WELDS ON
A 36/4 PATTERN
w/ (2) #10 TEK
SIDELAP
FASTENERS.

C8 x 11.5
BRIDGING TYP.
FOR 6 SECTIONS
- BOLT OR WELD
TO PURLINS @ OR
WITHIN 8" OF
POSTS

ROOF FRAMING PLAN
 
 
 
 
 

W.C.T.
S.S.B.
W.C.T.

          1               2/10/2020

          2               5/1/2020

S3.14

Reviewed By:

Designed By:

Sheet
No.

Sheet:

of

Revisions:

Project No.

Drawn By:

Date:

Drawing Title:

THIS DRAWING HAS BEEN RELEASED:

FOR PERMITTING ONLY
SCHEMATIC DESIGN
DESIGN DEVELOPMENT
CONSTRUCTION DOCUMENTS

FOR REVIEW ONLY

COPYRIGHT    WCT ASSOCIATES, INC., 2019©

WALTER CARL TAYLOR, P.E.
54548

19
01

 B
ig

 C
ra

ne
 L

oo
p

Po
rt

 O
ra

ng
e,

 F
L 

 3
21

28
Ph

on
e:

 (3
86

) 2
65

-4
91

1
Fa

x:
 (3

86
) 2

65
-4

91
2

w
w

w
.w

ct
as

so
ci

at
es

.c
om

E
ng

in
ee

ri
ng

 C
O

A
 #

28
26

0
A

s
s
o
c
i
a
t
e
s

 
I
n
c

6

180027

10/29/19

D
EV

EL
O

PM
EN

T

 
D

M
E 

SP
O

RT
S 

H
O

U
SI

N
G 

CO
M

PL
EX

25
01

 B
EL

LE
VU

E 
A

VE
N

U
E

D
A

YT
O

N
A

 B
EA

CH
, F

L 
32

11
4

No.  54548

«« «

A

R
I
D

A

O

L

F

STATE OF

EN

S

E

C

I

L

L

E

N

G

I

N

E

E

N

O

I

S

S

E

F

O

R

P

R

A
R

T

A

Y

L

O

R

C

R

E

T

L

A

W

L

This item has been electronically signed and
sealed by Walter Carl Taylor, P.E. on
5/1/2020 using a Digital Signature.

Printed copies of this document are not
considered signed and sealed and the
signature must be verified on any electronic
copies.

AutoCAD SHX Text
1.1

AutoCAD SHX Text
1

AutoCAD SHX Text
1.5

AutoCAD SHX Text
1.9

AutoCAD SHX Text
3.1

AutoCAD SHX Text
3.4

AutoCAD SHX Text
3.9

AutoCAD SHX Text
4

AutoCAD SHX Text
1.1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
3.9

AutoCAD SHX Text
4

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
1.6

AutoCAD SHX Text
1.8

AutoCAD SHX Text
3.2

AutoCAD SHX Text
3.3

AutoCAD SHX Text
C

AutoCAD SHX Text
2

AutoCAD SHX Text
3


		2020-05-01T12:52:02-0400
	Walter C Taylor




